your biology chapter 5.1
5.1
-the human skeleton consists of more than 200 bones. Mammals have a lot of similar bones. they all have for instance shoulder blades but in different varies. 
HUMAN SKELETON 
head: skull, upper jaw, lower jaw.
vertebra's: cervical vertebra, thoracic vertebra, lumbar vertebra.
arm: collarbone, shoulder blade, humerus, radius, ulna,
leg: thighbone, kneecap, fibula, tibia,
feet: tarsals, heel bone, metatarsals, phalanges
hand: carpals, metacarpals, phalanges 
(breastbone, rib, pelvis, coccyx)





